

## **CAE Motorsport** Twinsburg, OH 44087 (216) 260-0742

service@caemotorsport.com CAEmotorsport.com

## Invoice #1832

Created: 5/15/2024 10:31 AM EDT Invoiced: 6/10/2024 05:06 PM EDT Payment Term: On Receipt Service Writer: Noah Strausser

2006 Mercedes-Benz E55 AMG Base (Black) WDBUF76J16A922013 VIN:

Mileage In: 95,000 Mileage Out: 95,000

#### Recommendations

Recall Date: 01/19/2023

Manufacturer Safety recall issued

NHTSA #22V954 Recall #2023010006

Replace engine air filters

	Description	Price	QTY	Subtotal
1	Inspect Front End for Noise/Binding/Loose Components			\$93.60
2	Tightened Right Steering Bolt. This Bolt Was Loose. Check All Other Rack Bolts Including Steering Shaft And Stiffening Plate For Tightness. Right Rack Bolt Was The Only Severely Loose Bolt			\$45.00
3	Rerouted Front ABS, Brake Pad Wear Sensors And Strut Sensor. Safety Wired Strut Sensor To Broken Bracket/Added Missing Hardware For Inner Fender Cover			\$36.00
4	Dorman - Autograde Wheel Lug Bolt Note: Wheel Lug Bolt.	\$5.60	2	\$11.20
5	Import Direct Chassis Suspension Control Arm and Ball Joint Assembly Note: Suspension component that connects and provides pivotal movement of the Steering Knuckle to he vehicle.	\$140.81	1	\$140.81

	Description		Price	QTY	Subtotal
1	Wheel Bearing R&R (Both Sides), Cleaned A Cleaned Power Steering Pump Area	nd Lubricated Front Brake Pa	ds,		\$252.00
2	Precision Wheel Seal Note: Wheel Seal.		\$19.81	2	\$39.62
3	Precision Wheel Bearing and Race Set Note: Wheel Bearing and Race Set.		\$18.70	2	\$37.40
4	Precision Wheel Bearing and Race Set Note: Wheel Bearing and Race Set.		\$46.36	2	\$92.72
		Shop Supplies (5%): \$12.60	Tax (6.75%): \$29.32	Tota	l: \$463

Suspension Control Arm R&R (Front Right) and 2 More			
Description	Price	QTY	Subtotal



CAE Motorsport
1521 Highland Road
Twinsburg, OH 44087
(216) 260-0742
service@caemotorsport.com
CAEmotorsport.com

# Invoice #1832

Created: 5/15/2024 10:31 AM EDT Invoiced: 6/10/2024 05:06 PM EDT Payment Term: On Receipt Service Writer: Noah Strausser

Sus	pension Control Arm R&R (Front Right) and 2 More		
1	Suspension Control Arm R&R (Front Right)		\$110.00
2	Suspension Control Arm and Ball Joint Assembly \$128.02  Note: Suspension component that connects and provides pivotal movement of the Steering Knuckle to he vehicle.	1	\$128.02
3	Suspension Control Arm R&R (Front Left)		\$110.00
4	Suspension Shock or Strut Assembly R&R (Front, Left)		\$99.00
5	Arnott Suspension Strut FL	1	\$0.00
	Shop Supplies (5%): \$3.67 Tax (6.75%): \$30.42	Tota	l: \$481.11

	Description	Price	QTY	Subtota
1	Engine Mount R&R (All)			\$585.00
2	Engine Mount Note: Front, 2004-06 5.5 LITER	\$87.03	2	\$174.06

1 Driveshaft Flex .	1.1.000			
	oint R&R			\$108.00
2 Drive Shaft Flex Note: Flexible co shaft and the fla	upling used to transmit rotational torque between the drive	\$131.45	1	\$131.45

	Description	Price	QTY	Subtotal
1	Power Steering Pump R&R			\$216.00
2	Bosch Power Steering Pump Note: Power Steering Pump.	\$262.87	1	\$262.87
3	Lemfoerder Power Steering Reservoir Note: Power Steering Reservoir.	\$19.79	1	\$19.79
4	Genuine Mercedes Power Steering Reservoir Retaining Clip Note: A securing fastener which helps hold the Power Steering Pump Reserv in place.	\$3.30 roir	1	\$3.30
5	O-ring		1	\$0.00
6	Liquimoly Power Steering Fluid 20038		1	\$0.00
7	Coolant	\$25.00	1	\$25.00
		Гах (6.75%): \$35.57	Tota	l: \$562.53



**CAE Motorsport** 

Twinsburg, OH 44087 (216) 260-0742 service@caemotorsport.com CAEmotorsport.com

### Invoice #1832

Created: 5/15/2024 10:31 AM EDT Invoiced: 6/10/2024 05:06 PM EDT

Payment Term: On Receipt Service Writer: Noah Strausser

#### A/C System Service

Diagnosed AC system. Scanned vehicle. Checked high and low pressures. Both pressure reading were within spec. Checked wiring to AC compressor clutch. Noticed oil(possibly power steering fluid) in the wiring connector. Cleaned connector and rerouted AC

clut	ch wiring. Serviced AC system.		
	Description		Subtotal
1	Diagnosis AC System		\$90.00
2	AC System Service/ Make this a canned job!!!! \$299.95		\$135.00
		Tax (6.75%): \$15.19	Total: \$240.19

Ref	abricate tailpipes				
	Description	Price	QTY	HRS	Subtotal
1	re-fab tailpipes w/ 3" stainless back to exhaust tips			4	\$360.00
2	stainless steel tube, 3", per foot	\$33.00	3		\$99.00
		Tax (6.75	%): \$30.98	Tota	l: \$489.98

Alig	nment			
,	Description	Price	QTY	Subtotal
1	4-wheel Alignment	\$155.00		\$155.00
		Tax (6.75%): \$10.46	Tota	l: \$165.46

Thank you for your business. The work is complete and your payment is due upon pickup of the vehicle. Mechanics liens may be placed on vehicles until repairs are paid for in full. Please contact us promptly if you have any questions about any work performed.

Signature	

#### Totals only include authorized services

Parts	\$1,165.24
Labor	\$2,239.60
Subcontract	\$155.00
Subtotal	\$3,559.84
Shop Supplies	\$25.00
Tax	\$241.98
Grand Total	\$3,826.82
Paid To Date	(\$3,826.82)
REMAINING BALANCE	\$0.00

Payments		
9/30/2024	Check #521	\$3,826.82

Authorizations		
In Person by 6/10/2024 at 5:06 PM EDT	+ Suspension Diagnosis/Services + Wheel Bearing R&R (Both Sides), Cleaned And Lubricated Front	\$4,074.90



CAE Motorsport
1521 Highland Road
Twinsburg, OH 44087
(216) 260-0742
service@caemotorsport.com
CAEmotorsport.com

## Invoice #1832

Created: 5/15/2024 10:31 AM EDT Invoiced: 6/10/2024 05:06 PM EDT Payment Term: On Receipt Service Writer: Noah Strausser

Authorizations		
	Brake Pads, Cleaned Power	
	Steering Pump Area	
	+ Suspension Control Arm R&R	
	(Front Right) and 2 More	
	+ Engine Mount R&R (All)	
	+ Drive Shaft Flex Joint R&R	
	+ Power Steering Pump R&R	
	+ A/C System Service	
	+ Refabricate tailpipes	
	+ Alignment	

#### **Notes**

Tom Lerich 9/11/2024 12:28 PM EDT

Hi Colin,

Below is a link to the invoice you requested from CAE Motorsport. Please review and let us know if you have any questions.

File: Invoice\_1832\_-\_Suspension\_Diagnosis\_Services\_and\_9\_More\_-\_Colin\_Harrison\_-\_2006\_Mercedes-Benz\_E55\_AMG\_Base.pdf

### Needs Response